=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

ks

HE &Y.

QA ZHME HEHOZ Qe & F {IXI7F Hels WE XISt
I A ELct.

&= HHE 180° E2/H &= Elo
EI- J\ OI7.||EI|__||:|.

g H7' &2 &3 Hi7t o] fIx[of ™ E|o{ & Elo| Hel IXIZ &
o2 HEHE RXISHES &fLICH.

&
L)
Jdo
i

n
fe
o
Jdo
Rall
i
rII
ox

ok i

THEL:

&= Hi 1.0508.
AE| LIAF &2|E al 7 2 =

= B —-

otad A= 2l 1.4310.

H =
a3 ut A Ertad =X PA

#EM O]
LIAL £2|2 & A Arst OFF 2 &3
a3, ook &A™ M otRelE & E EL
Ao 2 nhRE|E ¢S AT E
|.o|=o|- AH77I-o| KI-:L l:||- '=||-|
- 22 3|4 RAL 7021.
- TEAM RAL 2004.
- B2 3 RAL 1021.
- A3 5 Wz A RAL 3020.
- Al =M RAL 6032.

Ml

- dE S IEHA RAL 5017.
- 948t 3|A4 RAL 7035.
Jg-x-l

&3 HhE 180° E2H &
Eobas| 2| B E b 2
27t a2l XBIEX

lo| ¢leH fIx|IZ Sot=.

I
—
MeEr 4 ol

%2 Al E L.

021 W oj

AL

AHAE HH.
HMAME:

EEHOl*' £ & K0638.
EZXMNY '='é3' K1290, K1839, K1840.

www.kipp.com - info@kipp.com 1/2



°
el
K2t olHA ZRIX, EI A
=M
® , L1
[
| ]
' 3) |
K= | KD
' 7/
Swi
; %
~ 1
el |
u / =F
JRIRNRF
D1
o
Q| ——- —a
1
EZS 29
FEHS B2l D D1 D2 L L1 L3 B BT H Fx30° SwWi1 AlZ} Erd
Bty S=
F1 2 N F2 2 N
K1679.040410 A 4 M10 10 385 25 15 9 3 6 1 10 8 14
K1679.040510 A 5 M10 10 385 25 15 9 3 6 1,3 10 8 14
K1679.040610 A 6 M10 10 385 25 15 9 3 6 1,8 10 8 14
K1679.0404101 A 4 M10x1 10 385 25 15 9 3 6 1 10 8 14
K1679.0405101 A 5 M10x1 10 385 25 15 9 3 6 1,3 10 8 14
K1679.0406101 A 6 M10x1 10 385 25 15 9 3 6 1,8 10 8 14
K1679.040512 A 5 M12 12 474 30 19 108 36 8 1,3 12 8 15
K1679.040612 A 6 M12 12 474 30 19 108 36 8 1,8 12 8 15
K1679.040812 A 8 M12 12 474 30 19 108 36 8 2,3 12 8 15
K1679.0405121 A 5 MI2x1,5 12 474 30 19 108 36 8 1,3 12 8 15
K1679.0406121 A 6 MI2x1,5 12 474 30 19 108 36 8 1,8 12 8 15
K1679.0408121 A 8 MI2x1,5 12 474 30 19 108 36 8 2,3 12 8 15
K1679.040616 A 6 M16 16 612 40 26 144 438 10 1,8 16 15 35
K1679.040816 A 8 M16 16 612 40 26 144 438 10 23 16 15 35
K1679.041016 A 10 M16 16 612 40 26 144 48 10 2,8 16 15 35
K1679.0406161 A 6 M16x1,5 16 61,2 40 26 144 48 10 1,8 16 15 35
K1679.0408161 A 8 MI16x1,5 16 61,2 40 26 144 48 10 23 16 15 35
K1679.0410161 A 10 M16x1,5 16 612 40 26 144 48 10 2,8 16 15 35
K1679.040820 A 8 M20 20 71 50 30 18 6 12 2,3 20 20 60
K1679.041020 A 10 M20 20 71 50 30 18 6 12 2,8 20 20 60
K1679.041220 A 12 M20 20 71 50 30 18 6 12 3 20 20 60
K1679.0408201 A 8 M20x1,5 20 71 50 30 18 6 12 2,3 20 20 60
K1679.0410201 A 10 M20x1,5 20 71 50 30 18 6 12 2,8 20 20 60
K1679.0412201 A 12 M20x1,5 20 71 50 30 18 6 12 3 20 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



